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QUESTION 1

In a three-node Isilon cluster using N+1n data protection, a single 128 KB file is written. How are the stripe units
distributed over the nodes?

A. Node 1: 64 KB stripe unit Node 2: 64 KB mirror Node 3: 64 KB FEC

B. Node 1: 64 KB stripe unit Node 2: 64 KB stripe unit Node 3: 64 KB FEC
C. Node 1: 128 KB stripe unit Node 2: 128 KB FEC

D. Node 1: 128 KB stripe unit Node 2: 128 KB mirror Node 3: 128 KB FEC

Correct Answer: C

QUESTION 2

A company has an Isilon cluster on which they want to configure dynamic pools. The cluster consists of 5 nodes. The
pool will consist of one 1Gbps Ethernet external interface on each of the nodes. Because the address space is limited at
the company\\'s site, they will need to implement dynamic pools using a minimum number of addresses.

If the company puts all interfaces in one pool and sets it to dynamic with round robin failover, how many addresses need
to be put into the pool to ensure an even number of IP addresses per node after failover distribution should a node fail?

A 4
B.8
C.15
D. 20

Correct Answer: D

QUESTION 3

A storage administrator is using an Isilon cluster with a large number of clients accessing the same data. Which data
layout is best suited for this workflow?

A. Concurrency
B. Random

C. Streaming
D. Mixed

Correct Answer: A
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QUESTION 4

Which type of information does Isilon InsightlQ display without enabling FSA?
A. Network performance

B. Data usage

C. Maximum file size

D. Node queue depth

Correct Answer: A

QUESTION 5

What is a valid simultaneous job combination on an Isilon Engine v2.0?
A. One Restripe job, one Mark job, and one All-Other job

B. One Restripe job, one All-Other job and one Multiscan job

C. One Restripe job and two Mark jobs

D. Two Restripe jobs and one All-Other job

Correct Answer: A
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